Calculating one amount as a percentage of another RED
Express the following as a percentage:

	1)  £3 of £10

3 x 100 =
10


	2) 252kg of 750kg



	3) 17 minutes of 1 hour



	4) 2 weeks of a year



	5) 245g of 5kg




WWW:
__________________________________

WWW:
__________________________________

EBI:
__________________________________

Calculating one amount as a percentage of another RED
Express the following as a percentage:

	1)  £3 of £10

3 x 100 =
10


	2) 252kg of 750kg



	3) 17 minutes of 1 hour



	4) 2 weeks of a year



	5) 245g of 5kg




WWW:
__________________________________

WWW:
__________________________________

EBI:
__________________________________

Calculating one amount as a percentage of another AMBER

Express the following as a percentage:

	1)  £3 of £10



	2) 252kg of 750kg



	3) 17 minutes of 1 hour



	4) 2 weeks of a year



	5) 245g of 5kg




WWW:
__________________________________

WWW:
__________________________________

EBI:
__________________________________

Calculating one amount as a percentage of another AMBER

Express the following as a percentage:

	1)  £3 of £10



	2) 252kg of 750kg



	3) 17 minutes of 1 hour



	4) 2 weeks of a year



	5) 245g of 5kg




WWW:
__________________________________

WWW:
__________________________________

EBI:
__________________________________

Calculating one amount as a percentage of another GREEN
Express the following as a percentage:

	1) £5 of £7.20



	2) 15m of 24m



	3) 26 minutes of 2 hours



	4) 5 months of a year



	5) 38cm of 4m



WWW:
__________________________________

WWW:
__________________________________

EBI:
__________________________________

Calculating one amount as a percentage of another GREEN
Express the following as a percentage:

	1) £5 of £7.20



	2) 15m of 24m



	3) 26 minutes of 2 hours



	4) 5 months of a year



	5) 38cm of 4m




WWW:
__________________________________

WWW:
__________________________________

EBI:
__________________________________

